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Solve the circuit below.

120V

11t} determine whether the fuse will blow.

R,=40,00

Ve
H1 =500 4.0 A fuse
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What value of R in the circuit below will cause the parallel combination to dissipate the
same power as the 4.0 Q resistor?

|V
|
i}
400
10 Q
A
— R
A
(A) 0260
(B) 290
©) 600

D) 679



11_Circuit Analysis2.notebook

52.(c) In the circuit shown, calculate: i)
iii

R,=6.00 R,

i) the voltage for R,.

ii) the value of R,.

November 07, 2013

the power dissipated in R,.
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“imniery attracted to vou.
ARy ot I'm also very
ticacted to that light bulb!™
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